[image: image1.png]


Module 1 Topic C Quiz
Analyzing Arrays to Multiply Using Units of 2 and 3
Name____________________#_____ Date_________
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Constructed Response Question
 Directions: Write your answer to the questions in the spaces provided. This question has more than one part. Be sure to show all of the work you do to find your answer. Even if you cannot answer all parts, answer as many as you can. You may get points for answering part of a question. Write your answers clearly.
Part A: 

Count by 3 six times
count by 6 three times
___, ____, ____, ____, ____, _____
_____, _____, _____

Part B: Drawn an array in each box to represent the count-by


Part C: Write the multiplication expression to represent your arrays.
______ x _______ = _______ x _______
Part D: How are the numbers in the two sentences related?
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Constructed Response Question
 Directions: Write your answer to the questions in the spaces provided. This question has more than one part. Be sure to show all of the work you do to find your answer. Even if you cannot answer all parts, answer as many as you can. You may get points for answering part of a question. Write your answers clearly.
Rachel is saving her can goods in the pantry.  She puts 3 cans on each shelf.
Part A: Use the multiplication sentences on the right to draw arrays for the top and bottom shelf of her pantry.  










_____ x 3 = 6











    _____ x 3 = 9
Part B: Fill in the blanks of the multiplication sentence.

Part C: Explain how she can use the arrays and the multiplication sentences to find the total number of can goods.


Directions:


Bubble the letter to the correct answer. Read the questions carefully.  Think and work out the problem before marking your answer choice.








1) Which count by model below can be used to solve the equation 2 x 6?








Ⓐ    2,4,6,8,10,12


Ⓑ    3,6,9,12,15,18


Ⓒ    2,6,18


Ⓓ     6,12,18








3) Which equation matches the count by method?





3 threes =





		


Ⓐ  3 + 3


Ⓑ   3 x 3


Ⓒ   3 - 3


Ⓓ    3 + 3











4.  What are 3 threes equivalent to?





Ⓐ   6


Ⓑ   9


Ⓒ   0


Ⓓ    6








2) Draw an array below, that matches 2 x 6.








5) Jess creates 7 necklaces.  Each necklace has two beads on it.  How many beads are on all 7 necklaces?








Ⓐ   2


Ⓑ   7


Ⓒ   9


Ⓓ   14





9) John adds two more rows of marbles.  How many marbles does John have in all?





   


Ⓐ   8


Ⓑ   10


Ⓒ   15


Ⓓ    25





10. Fill in the blanks below to complete the equation John used to solve his total number of marbles.  








	(_____x__5____) + (______x ___5___) = _______





8) John organizes his marbles into 3 rows of 5.  Draw an array in the box below to show how he organizes his marbles. 











6. Solve the equation below using any method.  





      4 x 2 =





Ⓐ   4


Ⓑ   6


Ⓒ   8


Ⓓ    12











